THE CONTENTS OF THIS DRAWING ARE THE EXCLUSIVE PROPERTY
OF THE TECHNICAL MATERIEL CORP. ITS UNAUTHORIZED USE OR
REPRODUCTION IN WHOLE OR IN PART IS STRICTLY FORBIDDEN.

TCA-EIAB162 Mccw)l

GAS PORT

‘s
4

K

sSYM I DESCRIPTION

DATE l CH. NO. I DRAFTS l CHECKER I ENG. APP,

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES
TOLERANCES ON
FRACTIONS % 1/64

DECIMALS % .008 ANGLES % 1/2°

SCALE: RNOWE

NOTES:

2-16 ¢cL-2 TH'D

MAXIMUM ALLOWABLE TOLERANCES HAVE
BEEN DETERMINED AND ANY DEVIATIONS
WILL BE CAUSE FOR REJECTION.

REMOVE ALL BURRS AND SHARP EDGES

REQ.
PER
uNiT

. SUPPLIED WITH | SUPPLIED WITH
MODEL STRAIGHT PLUG | ANGLE PLUG CABLE
TCA-EIA 5162'5§£LC(10) -1 PL-236 RG-211A/U |
TCA-EIA 51625/LC (10) -2 PL-885 RG-211A/0
d «4{’
y I.‘,
X K
o
_l -
—¢
= ||
— -
1 |9 | See Note 1 "O" Ring
6 |8 | See Note 1 4-40 Cap Screw
6 |7 | See Note 1 Split Lockwasher,
! _____Silicone Bronze
’ 4 |6 | See Note 1 5/16 8plit Leockwasher,
2 . Silicone Bronze
4 [5 | See Note 1 5/16 X 1/2 Hex Nut, *
; A Silicone Bronze
; 4 |4 | See Note 1 5/16 X 1-1/2.83 Head Bolt,
: Silicone opze
1|3 See Note 1 Cover, Varnish Inpre&te‘! )
. - Superwood ¢ -
1 Jdd- Connector, Receptacle
1. ITEM SUPPLIED BY MANUFACTURER IN CLOTH .
BAG OR AS PART OF ASSEMBLY. 1|1 | PO-249-50 Feed Thru 1-5/8 EIA
52. 2—1/8" DIA. HOI‘E REQUIRED FOR‘MOUNTING. REQ. ITEMM ?ART -NO. DESCRIPTION , SYMBOL
‘ THE TECHNICAL MATERIEL CORP.
3. OvaLL DI“NSI:ON IS APPRGXQ 7"5/80" STOCK SIZE MAMARONECK, NEW YORK -
4. LC, MODIFIED BOR H.V, APPLICATION. BRASS CONNECTOR, RECEPTACLE, ELECTRICAL
: MATERIAL (FEED THRU 1-5/8 EIA 50 OHM TO LC(10)
M TANTILLO 61863
. 2018 63 N Hogs| T H———
See Chart 6-18-63 [ TYPE & TEMPER [HEAT TREAT. SPEC. DRAWN V CHECKED - FINAL APPROVAL
MODEL SECTION ASS'Y. NO, DATE BRASS PLATE e £ 19/s3 :
USED ON FINISH & SPEC. NO. ELEC. DES. APP, Mﬁ. DE/S.KP. A—EIA513’W® '

TM< FORM NO. 109

A
¥

DEFIANCE NO. 1020

36csy



